TITLE:	VACANCY ANNOUNCEMENTS										
TERM:	NOVEMBER 1, 2003 thru OCTOBER 31, 200	)4									
		Page 01 of 01  ABOUT T  BASIS OF Rockville				PROGRA	M B 1 5 0 - S				
				TIME REPRO	ADVANCE A-1 PRTG. Washingtopn, DC		BLACK CLASSIC PRESS		GRAPHIC	IMAGES CORP	
	DEPARTMENT OF LABOR			e, Maryland			d/b/a/	BCP DIGITAL	Alexandr	ia, Virginia	
	PROGRAM B150-S	AWARD	UNIT RAT	COST	UNIT RAT	COST	Baltimore,	Marvland	UNIT RATI	COST	
I.	PRINTING & BINDING:							•			
	Looseleaf Products:										
(a)	Printing in a Single Ink Color,										
χ-,	incl., Binding each page						<del>                                     </del>				
(1)	MAKEREADY/SETUP	1434	NC	0.00	3.00	4,302.00	4.00	5,736.00	6.00	8,604.00	
	RUNNING/100 COPIES	10157	1.20	12,188.40		10,157.00		558.64		15,235.50	
	MAILING, Etc:	10107	1120	12,100.10		10,107.00	0.000	550.01	2.00	15,255.55	
	Single/Multiple Copies in Kraft Envelope						-				
(u)	(Up to 200 Leaves)per 100 envelopes	1111	10.30	11,443.30	13.50	14,998.50	12.00	13,332.00	NC	0.00	
(b)	Multiple Copies over 200 Leaves, up to		10.50	11,773.30	13.30	17,990.30	12.00	10,002.00	110	0.00	
	36-lbs., (Max., 40-lbs.)per bag/	-	<del>                                     </del>				-				
	bundle/container	87	NC	0.00	1.00	87.00	1.50	130.50	NC	0.00	
<del></del>	Danaio/ Container	- 07	14.0	0.00	1.00	67.00	1.50	130.50	110	0.00	
	CONTRACTOR TOTALS	-		\$23,631.70		\$29,544.50	-	\$19,757.14		\$23,839.50	
	DISCOUNT	-	0.00%		2.00%		0.00%		1.00%	\$238.40	
	DISCOUNTED TOTALS		0.00%	\$23,631.70	2.00%	\$28,953.61	0.00%	\$19,757.14	1.00%	\$23,601.10	
	DISCOUNTED TOTALS			\$23,031.70		\$28,953.01		\$19,/5/.14		\$23,001.10	
								AWARDED			
							-	AWARDED			
	WASANSW ANNOUNCEMENTS						-				
	VACANCY ANNOUNCEMENTS						-				
TERM:	NOVEMBER 1, 2003 thru OCTOBER 31, 200										
		<u>Page 01</u>		PROGRA		<u> 50 - S</u>	l				
				UM GRAPHICS							
	DEPARTMENT OF LABOR			Heights, MD		JM GRAPHICS					
	PROGRAM B150-S	AWARD	UNIT RAT	COST	UNIT RAT	COST					
I.	PRINTING & BINDING:										
	Looseleaf Products:										
	Printing in a Single Ink Color,										
	incl., Binding each page										
	MAKEREADY/SETUP	1434	4.00	5,736.00		5,736.00					
	RUNNING/100 COPIES	10157	0.60	6,094.20	0.60	6,094.20					
	MAILING, Etc:										
	Single/Multiple Copies in Kraft Envelope										
	(Up to 200 Leaves)per 100 envelopes	1111	12.00	13,332.00	11.50	12,776.50					
(b)	Multiple Copies over 200 Leaves, up to										
	36-lbs., (Max., 40-lbs.)per bag/										
	bundle/container	87	NC	0.00	1.50	130.50					
	CONTRACTOR TOTALS			\$25,162.20		\$24,737.20					
	DISCOUNT		2.00%		2.00%						
	DISCOUNTED TOTALS			\$24,658.96		\$24,242.46	1				

TITLE:	VACANCY ANNOUNCEMENTS											
	NOVEMBER 1, 2001 thru OCTOBER 31, 20	02	<del>                                     </del>									
I LINII.	NOTEHBER 1, 2001 tilla OCIOBER 31, 20		of 1			DOCD	A M B 1 5	0 6				
		Page 1	01 1		<u> </u>	RUGK	AM DIS	<u>U - 3</u>				
	DEPARTMENT OF LABOR	BASIS O	F									
	PROGRAM B150-S	AWARD	UNIT RAT	COST	UNIT RAT	COST	UNIT RATI	COST	UNIT RATI	COST	UNIT RAT	COST
I	PRINTING & BINDING:											
	Looseleaf Products:											
(a)	Printing in a Single Ink Color,											
	incl., Bindingeach page											
(1)	MAKEREADY/SETUP											
(1) (2)	RUNNING/100 COPIES											
II	MAILING, Etc:											
	Single/Multiple Copies in Kraft Envelope											
	(Up to 200 Leaves)per 100 envelopes											
(b)	Multiple Copies over 200 Leaves, up to											
	16.3 kg (36-lbs), Max., 18.1 kg (40-lbs)											
	per bag/bundle/container											
	CONTRACTOR TOTALS											
	DISCOUNT											
	DISCOUNTED TOTALS											

	WAR CAN BY AND COMPANY											
	VACANCY ANNOUNCEMENTS											
TERM:	NOVEMBER 1, 2001 thru OCTOBER 31, 20	002										
		Page 1	of 1			PROGR	AM B 1 5	0 - S				
	DEPARTMENT OF LABOR	BASIS O	F									
	PROGRAM B150-S	AWARD	UNIT RAT	COST	UNIT RAT	COST	UNIT RATI	COST	UNIT RATI	COST	UNIT RAT	COST
I	PRINTING & BINDING:											
	Looseleaf Products:											
(a)	Printing in a Single Ink Color,											
	incl., Bindingeach page											
(1)	MAKEREADY/SETUP											
(2)	RUNNING/100 COPIES											
II	MAILING, Etc:											
(a)	Single/Multiple Copies in Kraft Envelope											
	(Up to 200 Leaves)per 100 envelopes											
	Multiple Copies over 200 Leaves, up to											
	16.3 kg (36-lbs), Max., 18.1 kg (40-lbs).											
	per bag/bundle/container											
	CONTRACTOR TOTALS											
	DISCOUNT											
	DISCOUNTED TOTALS											

TITLE:	VACANCY ANNOUNCEMENTS											
	NOVEMBER 1, 2001 thru OCTOBER 31, 20	02	<del>                                     </del>									
I LINIII.	NOTEHBER 1, 2001 tilla OCIOBER 31, 20		of 1			DOCD	A M B 1 5	0 6				
		Page 1	01 1		<u> </u>	RUGK	AM DIS	<u>U - 3</u>				
	DEPARTMENT OF LABOR	BASIS O	F									
	PROGRAM B150-S	AWARD	UNIT RAT	COST	UNIT RAT	COST	UNIT RATI	COST	UNIT RATI	COST	UNIT RAT	COST
I	PRINTING & BINDING:											
	Looseleaf Products:											
(a)	Printing in a Single Ink Color,											
	incl., Bindingeach page											
(1)	MAKEREADY/SETUP											
(1) (2)	RUNNING/100 COPIES											
II	MAILING, Etc:											
	Single/Multiple Copies in Kraft Envelope											
	(Up to 200 Leaves)per 100 envelopes											
(b)	Multiple Copies over 200 Leaves, up to											
	16.3 kg (36-lbs), Max., 18.1 kg (40-lbs)											
	per bag/bundle/container											
	CONTRACTOR TOTALS											
	DISCOUNT											
	DISCOUNTED TOTALS											